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TH23EE ffifAEME—E (ERUERRAH)

(B2, nd, %)

HAEME S | KA | 5 HEHER DFTE R Ut & | 23pdmims | 22tedmitg | Zmis
Je(E) —1 HETLX FANEF2 T 210724 [THNH2—10—26] | 40,400 40,600 -0.5
() —2 HELX A7 T B 9%6 28,000 29,100 -3.8
() —3 FETALK ||l BIE T H 34474 THIF1—10—21) 44,800 = 45,500 -1.5
(i) —4 R TLX KIIRHTRI1 T H458% [AJRIRHTRI1—22—24] | 24,000 | 24,500 -2.0
() —5 FRHALR || AT LT H 6% 34 [HHERT1—6—2) 35,500 | 37,000 -4.1
() —6 PHETILK R T3 T B 185 L [AFNr3—8—12) 40,500 | 41,000 -1.2
() —7 FAHALR  |ed Wi ART 1T H 9% 10 T ART1—9—13) 40,900 = 42,300 -3.3
() —8 BT | Rl ST 42087% 37,800 | 39,000 -3.1
Jb(F)5—1 B HALX FAIRABT2 T A 3228%65k [alAN2—12—2] 49,200 = 51,500 -4.5
Jb(F)5—2 FHETALK T (BT T A3915%& 144 [HHR1—9—5) 48,500 | 50,800 -4.5
Jb(F)10—1 FETALK | Rl AR 14075 8,950 9,100 -1.6
e(E)10—2 PHATHILR Rl B IE L33 7 & 154 10,600 = 10,800 -1.9
RE)—1 HB X FAFIMT 109821 TAARIIT9 —30) 68,800 69,600 -1.1
R(F)—2 E NI 4 BRI T B 37 63,900 65,400 -2.3
R(F)—3 NI U PrRAT H20%5 (frRd—4—18) 67,800 67,800 0.0
R(R)—4 ER NI 4 LAXWF3THI10%13 HAXH3-10—22] | 74,400 75,000 -0.8
R(R)—5 HB X THHNT 166529 [ FEHHMT18—15) 74,800 | 75,800 -1.3
R(R)—6 HB X N 15330 [veRd—11) 61,800 62,200 -0.6
(R —7 NI U HHI5 T H2%&S 80,500 81,400 -1.1
HIF)7—1 R T B WY TRT1 T B 86750 IAT1 —19—12] 46,400 47,500 -2.3
RFE)7T—2 HHE X EANT2T H53% 4 NEAIT2—2—51 47,100 | 48,500 -2.9
RE)7T—3 HHE X HIHHET2 T A 848%8 39,900 | 40,300 -1.0
R(F)9—1 HHE X HRR7TH102% 14 27,600 | 28,300 -2.5
()9 —2 FHB T RX o T H1488%F 144 [#2—2—12) 31,200 | 31,700 -1.6
HE)10—1 HHE X W R AL 10875 1044 19,400 20,400 -4.9
() —1 HE T X KIEIT2 T H808%17 144,000 | 144,000 0.0
H () —2 Hrigifih X (E1ENT227%13 ({ZRNr13—3) 133,000 | 133,000 0.0
H () —3 Hrgifih X BRAAMENT3 T H 2105 155,000 | 155,000 0.0
() —4 Hrgifih X M2 T H223% 124,000 | 124,000 0.0
FRg(IR) —5 Frig g X FRHTHT T 3460721 81,900 | 82,200 -0.4
H () —6 HE T X LA 2T H566%7 [ AT -2—18—5) 91,600 91,800 -0.2
H () —7 Hrgifih X KT EIRT127 840 65,100 66,000 -1.4
H () —8 Hrgifih X 1T H36%4 (4171 —8—5) 90,500 | 91,500  -1.1
frg () —9 HHE 7 e X i T B 776395 [Lithid—11—5) 79,500 80,000  -0.6
Hr e () —10 HHE 7 e X 1T HT0H [451—9—6) 127,000 129,000  -1.6
() —11 By h X FEPG2T H 28474 [§50H2—11—2) 120,000 | 122,000  -1.6
He () —12 AT g 1T H1155%15 [RiB1—-14—13] | 77,000 | 77,700 0.9
Frgu(E)—13 BT X 3T H254% 19 [#73—5—33) 129,000 | 129,000 0.0
(IR — 14 BT X FE1TH1360%7 (T 1—18—23) 90,400 90,600 0.2
()3 —1  #EfR X B THESE 1707 14 32,000 - | =
()5 —1 AT X TESR @S HM 152672 213,000 216,000  -1.4
FRL(IR)5 —2 AT X T 1R HT86 7% 5041 176,000 185,000  -4.9
FRrL(IR)5—3 HaTh X S B6 AT 103771 282,000 299,000 5.7
e (B)5—4 g X AEE1 T A37% TEE1—6—11) | 205,000 211,000  -2.8
FRgL(R)5—5 HaTh X 2 N TR 427K 651 119,000 120,000  -0.8
()5 —6 BRI X k2T H282% 140 NHsk2—1—16) 110,000 112,000  -1.8
FRL(IR)5—7 HaTT X Serr12T H398%7 4T IL2—5—10) 118,000 119,000  -0.8
()5 —8 g X HITBEHNT9537% 1 | 518,000 560,000 ~ -7.5
FRgL(R)5—9 AT X FR4T H2446% 14+ THH4—1—-8) 434,000 447,000 2.9
FRO(E)5—10 #ngiihdex HAIR1 T H154% [HAKH1—8—10] 229,000 235,000 2.6
P55 —11 st sx HE1T H 1982445 236,000 240,000  -1.7
()5 —12  |ErEdhRxX #F2T H1790%6 [fF2—3—35) 202,000 208,000  -2.9
()5 —13  |ErEdihkx HRT 1555 88,300 89,200  -1.0
()5 —14  FhBihRx HOKIE1T H25%4h (3K 1 —2—30) 618,000 637,000  -3.0
()5 —15  #ngihkx K3 T H600% 74 DKIL3—2—11] 200,000 | 204,000 2.0
()5 —16  |FHEtihRK T ATE3ER375% 125,000 126,000  -0.8
()5 —17  |ErEd X R BiE@ 7 RRT 12367 1 190,000 195,000 2.6
FRg(E)5—18  #rgdi X AHIRHEIT 198 1337/ [ABIAMIT6—19) 90,000 90,800  —0.9
()5 —19  |ErEd kX HETE5RHET6 177 182,000 | 188,000  -3.2
H o ()7 —1 SR T sk X ERERT2 T B 620K 7244 [2E0ERT2 —3—28) 60,000 | 60,200 -0.3




TH23EE ffifAEME—E (ERUERRAH)

(B2, nd, %)

HEE S | XA | s MO THE R U % | 23pdmims | 22tedmitg | Zmis
Foe(E)10—1 #adh kX FEIEFREIH966% 1 37,500 | 37,800 -0.8
VLA (E)—1 BB TIFG X T ) IRIT3 T A 2756 %42 THEE)IMEIT3—6—12) 37,400 @ 38,000 -1.6
TR —2 HB LR X | sk | BB ] T B 460655 THBEH 1 —7—22) | 41,500 42,000 -1.2
TTR(E)—3 BB TTL A X | IR | & AR T B 1405% 105 TRMME1—3-5) | 66,300 66,500 -0.3
TTEE(E)—4 FOB LR X | R kiR 1T B 322%39 Tk R1—4—5) 64,000 64,100 -0.2
LR (E)—5 FETHILRE X nfmr| Fr1 T H 413510 [FiE1—4—8) 48,200 | 50,000 -3.6
TTE(E)—6 PR X R | T ART3T B 557526 [T A R3—3—24) 67,600 67,800 -0.3
TR (IE)5—1 FB TR X | R | fHART2 T B493%F 4 T HART2—7—11) | 46,200 48,500 -4.7
TR (IE)5—2 PHATTTREIX |namnr pEIT3 T H1167%& 14k (95073 —1—81) 78,700 | 80,300 -2.0
TE)10—1 HETITEX A AT 18 TE S 15,800 16,400 -3.7
TR (E)10—2 BT X Inseer | 5 ENT3 T H118% 1 8 LT3 —3—13) 14,700 15,200 -3.3
TR (E)10—3 BT X InsiEnr | AKH2T H326%3 [ AH2—5—36) 13,000 | 13,300 -2.3
FRIE(R) —1 HIB T KIER | | HBFA T B 293%54 [HHEF4—17—15) 50,100 | 50,500 -0.8
FKIE(E)—2 FIRHKIER | gt A S2RT105%35 [ A 52H15—8) 42,700 43,800 -2.5
FRIE(E)—3 BB TRKIERS e | LR RT2 T B 5029%9 NUAIT2—3—14] 57,700 | 58,700 -1.7
FKIE(R) —4 B TAKIER | ittt | BMHT1 T H 373% 1 [#58EHT 1 —6—25) 45,500 48,000 -5.2
FKIE(R) —5 FIBTIRKIER |rasrwr #4751 T B 1160725 [#71—6— 21 32,300 | 33,200 -2.7
FKIE(R) —6 HIBTTIKIER || &R 1208%F 14 [ RT12—16) 46,500 48,000 -3.1
FKIE(R) —7 B HTRKHE DS | el FERT44217%3 [FIHT15—4) 46,000 47,200 -2.5
FKIE(R) —8 BHETKIEK | gk | B T2 T H 385814 [#HrEskiT2—11—10) | 33,300 | 33,700 -1.2
FKIE(R) —9 FATTKIEX | gt SO 1T H341%69 [SHOXHF1—7—26) 49,500 50,000 -1.0
FKEE(R)—10 HB TRKIER [ | X 7 =R 3840 55k 25,700 26,900 -4.5
FRIE(E)5 —1 BRI EKIE K IRt FEAET 1T H 207736 [HiHART1—6—17) | 58,200 60,300 -3.5
FREE(E)5—2 BrRTKEER gl | HHE1T B 122% 11 HE1—2—29) 51,500 — —
FKIE(R)10—1 BB tHMIER s | )RS0 1 P 598%2 13,100 | 13,600 -3.7
FKIE(R)10—2 BB HHKIER s | 77 R AN 1890% 1 10,600 = 10,900 -2.8
FE(E)—1 FrBHEX  (Hakd| SR A OHIT451%12 TERBOHIT14—63) | 33,100 | 34,400 -3.8
() —2 FEBREX | naRd | KmrE4 T H160% 31,100 | 32,400 -4.0
FE () —3 BB | dd | QRN T B 65789 [EHR#NT1—6— 3] 42,200 42,800 -1.4
(R —4 BB | ol R TR 5409827 30,200 | 31,500 -4.1
(R —1 BB || AR/ NT3144% 1 37,200 — —
FE(R)7T—1 FATREK | Al g Ei4007F 4 50,200 | 51,600 -2.7
FE(E)10-1 FHEHEX HABN BEBTHNO9%E1 9,000 — —
A () 10-2 BB X I R B-680F 1 15,600 — —
FE(E)10-3 PRI | kik | T EREI226% 1 11,400 — —
g (1) 10-4 FHEHER ks AR TR F16%16 22,200 — —
FA (U4)10-5 FRTREK ARl IETRES97 &34 15,700 - | -
EUR)—1 HR TP X B4 T H2703% 19 (A B4-6-261 33,200 34,900  -4.9
) —2 FrB X SPRAEL T H 14544 78,600 80,100  -1.9
PER)—3 HHE P X WEFLIF1IT H110%7 (M8 ILF1—-10—12) 67,300 69,000  -2.5
P () —4 HATEX HwmE2 T A446F 344 [HHE@7E2— 18— 20 37,500 | 39,000  -3.8
E(E)—5 HATEX BOFH6 T H1174%9 [BF#6—-26—19) | 65,400 66,100  —1.1
TR —6 Fr|TvE X LR T A 5829% 14434 [ L#dHr3—6—24) 51,900 | 53,100 -2.3
PR —7 AT X SFRPE4 T H5956%20 [FEM4A—14—19) 45,500 48,700 6.6
PE () —8 HATEX FRHITA1721% 1040 [FRHE3—7—17) 71,400 72,800  -1.9
PR —9 HHE P X 2T A65%2 [Eih2—6—27) 63,000 63,800  -1.3
PE(E)—10 HATEX FAEH1940740 AEH14—5) 71,200 73,000 2.5
PEE)—11 HATEX HIL6 T H1436%784 [75116—18—8) 60,300 61,700 2.3
PE(E)—12 HATEX BOFRNILA T B376% 17 RFL4—9—14) 74,800 76,800  -2.6
(L) —13 HriEy P X MALTE A 1101473 | 51,500 52,100  -1.2
PE(E) —14 HATEX FHIL1T B 18%9 105,000 106,000  -0.9
PE(E)—15 HATEX NEFEI 2254728 [/INEFEELI11—8) 71,700 | 72,300 0.8
EUR)—16 AT X T —ORT9143% 186 36,500 | 37,900 -3.7
PER)—17 BRI X FATH) | 71525% 24 52,300 52,900  -1.1
PE(E)—18 HATEX N2 T HS5%17 N E2—4—17) 59,000 60,400  -2.3
a3 —1 FrE X WURFATEI41 255} 22,500 23,400  -3.8
PE(R)5—1 B X NPT 5547 72,000 74,200  -3.0
PE(R)S5—2 AT X SRR T H6618%22 [FEM1—1—12) 74,100 76,000  -2.5
P53 HHE P X KEFHT 26657 3 52,500 54,100 3.0
PEUR7T—1 BATEX Pl 2 —4T H2%3 37,000 | 38,000 -2.6




TH23EE ffifAEME—E (ERUERRAH)

(B2, nd, %)

HEE S | XA | s MO THE R U % | 23pdmims | 22tedmitg | Zmis
P72 i X 1L 5230783704k 47,700 48,200 -1.0
FE(R)10—1 P X o H 1442376 %49 41,600 43,400 -4.1
FE(R)10—2 P X AR H2369%F 15,000 15,300 -2.0
PEE(R) — 1 FHE T AP B0 KTHE F 407656 44,000 = 45,700 —3.7
Py (IR) —2 BT T | 0 R 3658 % 1 27,600 28,200 —2.1
P (E) —3 BT X NI Rl R 4153 33,600 | 34,700 —3.2
PaE(R)5—1  BREH R s BT 25258 241 48,800 51,400 =5.1
PR 7T—1 PR X | Rser | &SR 4800741 35,800 | 37,000 -3.2
P (R)10-1 PR TR | s | PrEPRT AT 327 10 28,700 — —
P (R)10-2 BRI HIX nrznk thi 11744720 21,400 — —
PR (F)10-3 FBTTHER hss | GET 2878 8,700 — —
P () 10-4 BB PETEIX | Basl BT 43667 6,300 — —
PavE () 10-5 FETPETRIX | ey BT R4213F 10,000 — —
P (R)10-6 BRI HIX | nBs | = 72847 9,400 — —
P (R)10-7 FR T X | nEi | 2 Eor+FN2175% 14 7,150 — —
Pav () 10-8 BHR TR | nss JFRET T 5421518 16,100 — —
P (R)10-9 BRI HIX e nk B 6847 14 6,700 — —
PEIEUR)10-10  BEimgE mrent 4510605244 15,500 — —




